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BHSTEE 45 1,051 1,051 6 39 62
BHISS & 45 1,003 1,003 6 39 62
BAISIE 45 975 969 6 40 62
B0 & 45 975 969 6 40 62
BAI61EE 44 975 964 6 40 62
BHI62EE 44 970 964 6 40 62
BHI6IEE 44 970 953 6 40 61
FERTERE 44 970 950 6 40 61
TR 2 EE 44 970 939 6 40 60
TR 3 ERE 44 970 940 6 40 60
TR 4 EE 44 970 933 6 40 60
TR 5 ERE 44 970 928 6 40 59
TR 6 EE 44 970 917 6 40 57
TR 7 ERE 44 930 912 6 40 50
TR 8 ERE 44 930 910 6 40 50
TR O ERE 44 930 910 6 40 50
TRI0EE 44 930 912 6 40 49
TRIEE 44 930 904 6 40 49
TR12EE 39 863 853 6 40 49
TRI3EE 39 863 844 6 40 49
TRMERE 39 863 844 6 40 49
TRISERE 35 792 789 6 40 49
TR16EE 62 1,405 1,360 10 62 76
TRITEE 62 1,405 1,362 10 62 76
TRISERE 62 1,405 1,345 10 62 76
TR19EE 62 1,405 1,345 10 62 76
TR20EE 62 1,405 1,343 10 62 76
TR EE 62 1,405 1,333 10 62 76
TER22EE 62 1,405 1,334 10 62 76
TR3EE 61 1,405 1,334 9 63 76
TRUMEE 61 1,405 1,356 9 63 76
RS EE 61 1,405 1,359 9 63 76
TR265EE 61 1,405 1,380 9 62 75
TRIEE 60 1,405 1,37 9 61 74
TR28EE 60 1,405 1,363 9 60 74
TR29EE 59 1,405 1,347 8 60 74
TRI0EE 59 1,405 1,341 8 59 73
SHTERE 59 1,405 1,327 8 58 73
S 2 EE 59 1,405 1,309 8 57 72
A3 EE 59 1,405 1,159 7 56 72
SH4EE 52 1,200 1,111 7 52 67
S5 EE 52 1,200 1,003 7 52 67
A AER = 38 27 - - 4
HIESH 4 89 84 1 3 3
HE 2 3 65 53 - 3 3
EESHE 4 73 68 2 2 6
KiIHH 3 62 62 - 3 3
WESH 3 56 55 - 3 4
= PG 2 54 46 = 4 5
K2 FHE 3 59 55 - 3 3
HEHE 3 57 54 = 3 4
FLE S E 4 78 70 1 4 5
£ F 5 2 38 29 = 3 3
EHHHE 3 49 45 - 3 3
EHE—HH 5 126 110 - 6 6
EHE=HE 6 117 113 1 7 8
£2%— 50 4 108 102 1 3 4
12E-HH 3 131 120 1 2 3
* REEIAIBRE

* FRIGERELIRIE, 1TTH2ETOEHEHRIEICE S,

* ERi25F1 B1 B &Y MEEEE (EAL) AAFH




